ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX (Sub ID...) OPAQUE X XX PANOLOCK - IMPACT\C - Drawings\TX-5217.dwg

POWERED BY

ENDURA |

DOOR COMPONENTS MADE IN THE USA

PanolLock Multi-Point Lock

in a Single or Double Door
INSWING / OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 infernational
Residential Code (IRC), Sections R301 & R409 and the 2018 International Building Code
(IBC). Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject o the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
o base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for instaliation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Sections, Design Pressures & General Notes
Door Panel Details

Elevations

Vertical Cross Sections

Horizontal Cross Sections

Frame Anchoring

Bill of Materials & Components

NN N B DR —

P

Panolock Multi-Point Lock

37 47" MAX,
FRAME WIDTH

97.94" MAX. O.A. FRAME HEIGHT (INSWING)

97.12" MAX. O.A. FRAME HEIGHT {OQUTSWING)

I

20O
SRRk b

0
L&y
M

ALY

€.0F 1
7 K

104123

73.97" MAX. FRAME WIDTH

OO | &=

| o || o |
X o X o X
MAX DESIGN PRESSURE (PSF)
CONFIGURATION|  FRAME INSWING OUTSWING
DIMENSION | POSITIVE | NEGATIVE | POSITIVE |NEGATIVE
X 37.47"x 97.94"} +65.0 -65.0 +65.0 -65.0
XX 73.97"x 97.94"| +50.0 -50.0 +50.0 -50.0

i
L
\%‘3 0 x%%
ﬂg* 2 g
Jow dlB e
-2z z !
e = e
» I .iﬁm oy
c ﬂ - wd
“°§ o <
B zZ 8y zz
cm <92 5o
[ LT ==
2 J359 ag
A>m 0ng
Zom 50
% an b
® OV gu
x
o 25872 u
® 5% 958
] 9. &
& 502 gp
& moan §5
; 9%
E & 3]
3 -
[+
o
(%)
>
&S
h<
W,
ox
ik
<g Z=Z
o oo Ol
2 |G E°
Q @ O
= = s
Y] % U)(n
|
2 Iz
o o L2
o S| &R
a =i
o) el X
x
& &
>..
fin}
%)
b
Q
o
ol
o
L)
<
a
o
pd
DATE: 6/17/21
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
T™X—-5217

sheer 1 oF 7

© zoz1 R.W. BUILDING CONSULTANTS INC.



CON| SINVLINSNGOG aNIgTINng "M'Y LZ0Z @)}

2S8LL—4 # NOLVAISIONY 40 3LVOIIL¥3O STvIIa SNOISIAZY i
SHIINIONZ TVNOISSIJ0Nd 40 QuVOE Svxal TINVd 4004 A8 31vd [ON m o W o ~ 7_
L616°6G9°CLE UON BuoUd : . S O Tiw
S6SEE "l OOWIPA 0SZ XO8 ‘O'd \Svgﬁ AATENISSY HO LHvd = _M g Q| °
"ONI ‘SINVLINSNOD 9NIQUNg Y NEREIN 2_
@ & &g &
€ZIPOL# "T'd SVXIL VAaNANd i m S| w &
‘q'd IPIWYDS d UOopukT 1Ag pelpdesd sjuswinooq : :10NAoud ZI21E151% 5
\N‘o ~ %MMM.\... N ....Mw.‘m.o fog
o“::-o.o.. Lo
M5 AN
o™
- :WN._. o .
« - 2| =] A R
v — @
: ~ ~ L N o
° S 5 , I S P
© e m o< \ / \
Q) o= w =
2 52 Tz 2 S ==
- Z S < 2 7 ) o
] 2 S < ==
o 090 & 5 < EOQ
L e — i ®) o~
& z = @
i [red
R\ U <
A\Y <
5
\ =
A\ Q
v Y|
-] I W
— weed
. = i oy
-1 [~ w T M m.M m
N o & ﬂ x5 Ra
s | ) Lol | =1 |, g:s o
= o] S R = Z
— T 3 > 288 &
! . | | 958 53
. ) 5 o 3
13 Q m & &2
. g e & 4o
= < i s
o
:mm.mm j

Bmpr21.25-X1\sBuIMeIg - D\DVAIAL - XDOTONV XX X INDVJO (Al gnS) XXXX-Hd - IaL\suj Jo 1deq sexa] - \LNINVINYId BINPUI\SIUaIONZ



CON] SANVLIINSNODO aNianing

‘MY 1202 §

ZG8LL—4 # NOUVMISIOZN 40 ILVOLAILYED
SHIINIONI TVYNOISSIHONd 40 Quvo8 SvX3L

n?m.mmm.npw".ozo:ocm
mmmnn.._.._oor_o>onmxom.o.m g@
"ONI ‘SINVLINSNOD oNIalng

£ZLY0L# "3'd SvX3L

‘I'd ‘IPIUYDS 4 UOPUAT Ag pesodeid sjpuswnooq

SNOISIAZY

SNOLLYATT3 Ad

31vd [ON

RW
LFS

SATANESSY d0 Livd

VYoNAN3

LONA0Yd

oaTE: 6/17/21
scAlE:  N.T.S.

DWG. BY:

CHK. BY:

DRAWING NO.:
TX-5217

SHEET _ 3 oF _7

/2 .‘No“

:()V-ﬂnammww\%ﬂm
Soon3 T5atly

isezessaes S8
K sﬂvvv ot QWWZMQ \Vc...ov 2,

2. LAINHOS 4 NOGN A7

seea
* 2 bl £ L2 LTIy

“ 4 LIPAN 4
A Sy
A % S
‘% ﬁ‘ .”v@ P

4 .a-.o:.......;c Ot
ﬁﬂw,w& 40 w,.fm%ﬁe

Mo

X

1 =

A4

<~

(3N (20

ELEVATION
XX

ELEVATION
X

Bmp£125-X1\sBumesq - D\LIVAINL - XDOTONV XX X INDVJO (Al Gns) XXXX-¥a - 1aL\su} Jo 3daq sexs) - S\ININVNYId eInpua\siuslid\z



TON| SANVLINSNDOO sNIQTInNg ‘MM 1202 @]

2S8Li—d4 # NOLVMLISIONY 40 ILVOLILLNIO SNOISIATY
SHIINIONT IYNOISSI0Md 40 Quv08 SVXIL SNOILOFS SSOMD TVILLMIA Ad 31vd [ON|~ lo| ~ 7_
soa-ola - Jlul2 |
L6L6'659°CLE ¥ON euoyd : Nl & =
C65EE i Poor acw Xom o \SV@ KIGA3SSY 40 1avd NS “lLyls
“ONI 'SINVLINSNOO ONIGTNG N g ) 4_
AR N
£ZLPOL# “T'd SwxaL VeNanNd i m 6lelE i
‘3'd IPIUYOS 4 uopukl :Ag pedndesd sjuswnoo( :19NaoNd 2181215 m z
[2°4
O
L.
By
» % o< =
e ECLY A 3 2
54 IHOS 3 NoaN.T 2 e
\\* Yy .:.:..n.%.c\ m 3
x@* S & ZE
-%k\.. ....... 'y & W
-N*,W.~ ........... WY <O
.Wwwﬂ h&o mb}n.l.s( o
SRR &
Q
S
LLi| <C ﬁIm
oz z
2l

EXTERIOR

R

AN

RTINS

INTERIOR

7“3\ VERTICAL CROSS SECTION

W Outswing sill

i NISD
@ # 510

o /DRMALL

A
A
ki

EXT. SHEATHING —\

Z5
O.I..u
o Emv
O S.w.
r~ o )
] i
zl O
\ e
Vi3
-5
[
- EfE
>0
&

13

EXTERIOR

K ) wooD
D ) CONCRETE

EXTERIOR

>

/" 2"\ VERTICAL CROSS SECTION

\4./ Inswing sill

INTERIOR

BmpL125-X1\sBumelq - D\LDVJNI - ¥DOTONV XX X 3NDVJO (A1 anS) XXXX-Hd - IAL\sul Jo 1dag sexa] - g\LNINVINYId enpuz\siualid\z



TONI BLNVLINSENDOD SNITOTUNE MY 1202

ZS8LL~4 # NOLVMISIORN 40 IAVOIILYIO SNOISIAZY
SHIINIONT TWNOISS3H0Nd 40 QuvOsE SvXaL SNOLLO3S SSO0YD TVINOZIMOH | AH 3lvd JON Slalzln] ~ 7_
nca . ) L
LEL6°6G5°CLE "ON Buoyd : RN ] R N
CESEE 14 OOUIDA ST X0 O \N\w@v XTENISSY 90 Lavd NE S8
"ONI *SINVLINSNOD ONIGTiNg W N z .vw 5_
alhle
CZLYOL# 3'd Svxil VH4NAN3 i m o|glE &
‘3'd IPIMYDS ‘4 uopukl  :4g peupdedd sjuswunoog :LONA0¥d HEIRE m %
P ..\N c“

£QIWHOS 3 NG

had LT PN

% geere s

W» k% s o o

% nwv.uc 1AMMNWWMV Bk Luw
Qb oG

I dnqree "
iy ‘l,w Serypeen?® &,Y»
M0 ke

/— DRYWALL

Z EXT. SHEATHING

I
7
ol

/"2 "\ HORIZONTAL CROSS SECTION

W Outswing shown {Inswing similar)

®

0.15"
CSINK

A\

INTERIOR
EXTERIOR

3"\ HORIZONTAL CROSS SECTION
\5_/ Outswing shown (Inswing similar)

INTERIOR
-~
EXTERIOR

0.15"
C'SINK

o

/"1 "\ HORIZONTAL CROSS SECTION
w Outswing shown {Inswing similar)

RN

DRYWALL '\
//Aﬂ///

Bmp’/LZ§-XL\sBumeIq - D\LDVINI - XDOTONV XX X 3NDVAO ("l ans) XXXX-¥a - 1a1\sul jo 3da@ sexa] - S\LNINVINYId eInpuI\siualid\'z



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX (Sub ID...) OPAQUE X XX PANOLOCK - IMPACT\C - Drawings\TX-5217.dwg

6 (TYP) ——{  |=— ‘

l nd
s 2]
B 4 ~e 5%
HEAD & JAMBS =
{TYP.) o
- X L | [
43
n -l @O
o
The head is attached to the jamb w/
{3} 7/16" x 2" steel crown staples (TYP.) e 4" (TYP)
Il 1\1 I |
DETAIL 1 '_\
= ol
ez
HEAD & JAMBS
{TYP.)
FRAME
(TYP.) " "'
b X X s | R —
4
CONCRETE Q ’é =
— in U
woop(K) 33
SILL DETAIL 2
- {TYP.) —
1 RGN !
5 (TYP.) —]
4" (TYP) —=
The threshold is attached fo the jomb 4" TYP.) e
w/ (3} 7/16" x 2" steel crown staples &
(1) #8 x 1-5/8" wood screw (TYP.} FRAME ANCHOR’NG

~
2R =
\ A —
SEE HINGE
DETALT 5, :
) SEE LATCH S
D \ DETAIL %
O
Oz
el =y
& SEE HINGE ] —
1 B+ DETAIL 2
by
/ v —{
2R
HINGE JAMB STRIKE JAMB

(3PLCS.)
%
(o]
ASTRAGAL STRIKE

AN
3 oo} o 6‘?
St 20500
R PIZE 4} 1?
DA+ 5 S t%{{,
] (0, o
e | @ 7@ $ I og,‘:;’;
- L@ H W Seg 5} "’ig
e [ : izio &
™~ [ 75 RN "-'.3
..'o. EO § .*"
\ S d .-"0‘(

X i PR

‘.Z£ ey

Lyndon F. Schmidt, P.E.

TEXAS P.E. #104123

813.6598.9197

el
HINGE DETAIL 1 \
1 .4
-0 | lle
ol
DNl
\
W
HINGE DETAIL 2

N A\

D L
‘<[§ it

1\ A
W \!
LATCH DETAIL LATCH DETAIL
@ ASTRAGAL @ JAMB

N\

DETAIL 1 b
‘ 1/2" DIA. HOLE

1/2" DIA. HOLE \
AY

@

A 3

% X

X X

® ":{'i@

DETAIL 2

Inswing

DETAIL 2

WOOD Outswing

CONCRETE

wOOD
CONCRETE

P.0. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

Ry

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F-—11852

ENDURA
PART OR ASSEMBLY:
FRAME ANCHORING

PRODUCT:

BY

REVISIONS

NO.J DATE

DATE: 6/17/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-56217

SHEET 6 oF _7

© 2021 R.W. BUILDING CONSULTANTS INC.




ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-XXXX (Sub 1D...) OPAQUE X XX PANOLOCK - IMPACT\C - Drawings\TX-5217.dwg

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
B | 2X FRAMING (SG >=0.42) WOOD
C | 1/4" MAX. SHIM SPACE -
D | 1/4"PFH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
F | #10X2-1/2"PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
G | 3/16"PFH ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
K | #10 FH WOOD SCREW (1-3/4" MIN. EMBEDMENT}) STEEL
1 FINGER JOINTED PINE JAMB WwOOD
7 | WEATHERSTRIP FOAM
8 | SWEEP PVC
9 | #9 X 3/4"PFH WOOD SCREW STEEL
10 | #9 X 1" PFH WOOD SCREW STEEL
11 [ 4" X 4"BUTT HINGE STEEL
13 | INSWING THRESHOLD ALUM/COMP
14 | OUTSWING THRESHOLD ALUM/COMP
26 | #8 X 2-1/2" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE (JAMB) STEEL
28 | LATCH STRIKE PLATE (ASTRAGAL) STEEL
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
50 | ENDURA ULTIMATE PANOLOCK ASTRAGAL ALUM
51 | ASTRAGAL BOLT STRIKE PLATE STEEL
52 | #10X1-1/2" FH WOOD SCREW STEEL

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusfed fo

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are notf exceeded.

. Concrete anchor table:

1ZE

“F'MIN. CLEARANCE

TTW BUILDEX

X 315
TAPCON 174" 1-3/4" 2" 4"
DeWALT " " "
uuiAcorﬁ 1/4 1-3/4 " 4

WOOD SCREW INSTALLATION NOTES:

to prevent the splitting of wood.

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of wood screws

| 4.56"

‘ .2n

! 2.36" !

WOOD JAMB

AN
&N‘i:b"}ltl
Serlial ¢
P }(‘9 ..0“': —-— N \9
FaFe i
HoaNg
Ay 0 :m
H l";lf ‘wsﬁ
;R 6<t Ho
< AR
NS 2}
'?Qh-k >
gt 2
h‘h\\'\x\-

Y7 ———»1

13 INSWING ADJUSTABLE THRESHOLD

ZAIL4565

~/

2.65"

! 4.56"

14 OUTSWING THRESHOLD

10BL4585

0.062"

@ ENDURA ULTIMATE PANOLOCK ASTRAGAL

ui
<R
53 Lo
Ex 2 iR
5* B Zc
o SB oY
h:ﬂ. --jg\ gl
] sE2
c
%§ EOQ 2z
ey <28 Go
5 == nE
3 Ngo @
231 ﬂé
Zowo %
s GRY 93
) O N gy
(4] 4
3 032 u
] z R oun
L 0 © e}
g d4 .5 o
o 50¢ %E
L mod g
n
R E
5 gm
£ Q§ 8
3 =
[+
o
ny
=3
i
< i
@ ==
~NEER
o |4 =
S
Gl 90
(741 -
2 =%
e o
5 o
2 o)
S b
o o
>_
m
172]
vl
O
2
ol
o
fu
<€
0
o
P
oatE: 6/17/21
scAale:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5217

SHEET _/ OF _7_

@ 20271 R.W. BUILDING CONSULTANTS ING.



